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250,000& = 13| = 123 3,000
o EE2 M# 5,000& = 2& = 20004 2,000
o UFNIER F& =S|
8,000& = 3%  115¢ 2,760
202 o4dl 3,900 3,900 0
01 = LH o4 Hi 3,900 3,900 0
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2N
X ZH -
L= B

el

FoI= X1
AT SE M A T2
ANRANE T &

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 3UIXNYR =& 20,0008 » 3 = 6562 3,900
307 21201 A 10,200 10,200 0
11T MISAASEX 10,200 10,200 0
o 0ls%dey 2 850,000& = 12& 10,200
MNAS =0 Mot I & 32,000 32,000 0
301 LA F 32,000 32,000 0
01 AR 2Z A5 3 32,000 32,000 0
o Mas TtH =stod ZHl X&
200,000& = 7594 15,000
o Jgg, BE IE=35F 6,000,0008 * 23 12,000
o Mo, 21237s /=23 S(&, 018)
100,000& * 50Jt+ 5,000
e it X& 8,640 8,640 0
301 EHZ 8,640 8,640 0
01 MEI2EZE+6l= 8,640 8,640 0
o HXI HItodl 20,000 = 4% = 12& 960
o ekt Z b 2,000,000& = 3H 6,000
o FaAHE dHeA X & EHH| 60,000 * 8% 480
o ZAZEE dHAX 3
20,000& = 2% = 30 1,200
MASE MA=otAY 16,500 16,500 0
301 LEXZ 16,500 16,500 0
01 MEI2ZE 405z 16,500 16,500 0
o MASE M4l =dtoil =2l
22,000& = 7509H 16,500
Al ZelAlY 29 (BExX) 15,000 15,000 0
= 7,500
< 2,250
s 5,250
201 ¢er24] 7,500 7,500 0
= 3,750
< 1,125
s 2,625
01 At 22l 7,500 7,500 0
o ASISXSEMUIA AtcllZ2lArY 22l
7,500,000 7,500
= 3,750
= 1,125
s 2,625
301 LEHZ 7,500 7,500 0
= 3,750
< 1,125
s 2,625
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2N
X ZH -
L= B

el

FoI= X1
AT SE M A T2
ANRANE T &

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al E & A 452 7,500 7,500 0
o Atdl2e2lth& X JF2 X &l
500,000& = 159 7,500
= 3,750
& 1,125
= 2,625
NAXEE AMIAHA ENANSE(EX) 437,987 425,000 12,987
g 349,794
= 26,235
= 61,958
202 04| 1,500 3,000 A 1,500
= 1,200
o 90
= 210
01 2L HI 1,500 3,000 A 1,500
o KYASIMHIA SEXAIE =& |
20,000& * 1 = 75¢ 1,500
Fag 1,200
& 90
= 210
308 XX G SO0l A 436,487 0 436,487
= 348,594
= 26,145
= 61,748
10 212 SUHUSHE A XEAE AT Y| 436,487 0 436,487
o AYASIMHEIAEXAIS 436,487,000 436,487
g 348,594
o= 26,145
= 61,748
SHs UA=8E SEMHIA(E2EXHES) X 92,400 92,400 0
= 64,680
& 5,544
o 22,176
201 et 38,720 37,000 1,720
= 27,104
= 2,323
= 9,293
01 AP 2t 2] H| 30,800 34,000 A 3,200
o gH UFHE=EX 22U A&
2,800,000 * 11JHH 30,800
= 21,560
& 1,848
= 7,392
02 2324 7,920 3,000 4,920
o 222 AU EXRS
720,000 * 11J0&H 7,920
2 5,544
o= 475
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2N
X ZH -
L= B

el

Fol=x o
ANBZXISSAHEA TR
RARAHES X

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

HJ

1,901

MR

53,680
37,576

3,221
12,883

55,400

A1,720

o S XFE=EX At 2l e X X&

4,880,000& * 11JHEH

MW

53,680

53,680
37,576

3,221
12,883

55,400

A1,720

2clSU H2AM SXIIsUH 29H XA

Mo

55,000

27,500
27,500

55,000

201

e
iz
Mo
0
=

EURE

2,750

1,375
1,375

2,750

01 At 22l bl

o 2sUl SXIISH

29 N

250,000 » 110HA

M

2,750

2,750

1,375
1,375

2,750

M

52,250

26,125
26,125

52,250

o 2sUl FXIISH

09 HAAHIXES

o felsul =SXJISH

4ZOLY X
,000,0002 * 11944

M

MEESEHIA R
2,500,0008& » 1108 £

M

M H

49,500

22,000

11,000
11,000

27,500

13,750
13,750

2,750

2,750

1,375
1,375

49,500

2,750

ANAM2HZEAN &8 HE

Mo

29,304

5,860
23,444

30,000

696

UL

29,304

5,860
23,444

30,000

A 696

04 JIZtNZ22XNSE+

29,304

30,000

696
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2N
X ZH -
L= B

el

Fol=x o
ANBZXISSAHEA TR
RARAHES X

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

o NFAIEZEAM MRS

el |
29,304,000

M H

29,304

5,860
23,444

MNASE 0IMEX OtA3 E5AHY

HH A

183,352
91,676

18,335
73,341

183,352

HH A

183,352

91,676
18,335
73,341

183,352

UL Y

183,352

183,352
91,676
18,335
73,341

183,352

HH W

265,750
209,880
15,741
40,129

238,

659

27,091

3,400

,600

A 200

600

600

600

600

600

2,800

,000

A 200

140,000& » 2& = 100H

2,800

2,800

,000

A 200

HH A

262,350

209,880
15,741
36,729

235,

059

27,291

HH A

262,350

209,880
15,741
36,729

235,

059

27,291

262,350,000&

HH A

262,350
262,350

209,880
15,741
36,729

235,

059

27,291

A& SALAE X

o

98,960

1,240
10,150

89,

221

9,739
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2N

=e =X

M MA=SASEAMEA TE
&2 HFSAEEH X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 87,570
HdasAES X 42,000 35,000 7,000
201 ¢er24] 4,000 2,500 1,500
01 At 2t 2l 4,000 2,500 1,500
o NISALQIINWE H X T
50,000& = 304 1,500
o NISAA U3 EEM MHE S
250,000& = 10¥ = 13l 2,500
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
o NASMES MEH N (HE 23 -5
L&) 20,0003 = 50H =« 23| 2,000
301 EEH = 8,500 3,000 5,500
09 SAAHIX A S 7,500 2,000 5,500
o NISAA 2WE 50,000& = 309 1,500
o KAASAMI(EA &0) X
8,000& = 252 = 303 6,000
12 JIEE4 3 1,000 1,000 0
o NHASMIAL doixizgsl X
200,000& » 59H 1,000
307 glz2tol & 27,500 27,500 0
02 It M AHEE 22,500 22,500 0
o NESA =228 X&
1,500,000& = 1500 & 22,500
04 QIZFHALAIH E = 5,000 5,000 0
o AESAA W2l XI&  5,000,0003 * 104 5,000
NASAHEEH 29 Al 8,650 9,770 A1,120
201 Let2d] 8,650 9,770 21,120
01 At 22l 3,100 1,180 1,920
o NESMER FH MRES
100,000& » 2& = 12& 2,400
o NESASYANS FH2+Y
0,000& = 5% = 23| 700
02 2324l 5,550 8,590 A 3,040
o ANSAEEH 323 50,000& = 12& 600
o IS 300,000& = 12& 3,600
o =23 30,000& = 123 360
o NISAMA SES L5
330& * 2504 « 123 990
= S NESAMEE It MUlA X(BX) 2,480 2,750 A 270
= 1,240
[ia 1,240
307 21201 A 2,480 2,750 A 270
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AN FUASIIB
M ANASASEAMEA XH
(Sl & &)

&2 HFSAEEH X
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 1,240
s 1,240
06 283 2,480 2,750 A 270
o ANESAA B2 X3 2,480,000 2,480
= 1,240
[ia 1,240
ANAEASA 835 XNB(Ex) 13,830 15,991 A2,161
= 4,150
s 9,680
201 et 4,000 4,000 0
< 1,200
= 2,800
01 At 2teltl 4,000 4,000 0
o NESAMES SEESE L2 2,000,000& 2,000
< 600
2 1,400
o NASASE ADE(HABE S) 7
2,000,000& 2,000
< 600
s 1,400
301 LEXZ 1,000 0 1,000
< 300
s 700
09 HALAHIX A S 1,000 0 1,000
o HOtit=s NS AM BF 1,000,000& 1,000
< 300
[ia 700
307 21201 A 8,830 8,968 A 138
< 2,650
[ia 6,180
02 ItFAAHEEX 8,830 8,968 A 138
o UHESAMESH XN (EE 942 SHLUS)
5,000,000& * 1JHA 5,000
= 1,500
[ia 3,500
o Jlsd Nsg d2SAH(R+220Y) X
& 3,830,000 = 100 A 3,830
< 1,150
s 2,680
JIRAS MBAY(ZEHWI) NA(2X) 30,000 25,710 4,290
< 6,000
2 24,000
307 21201 A 30,000 25,710 4,290
< 6,000
e 24,000
11T M3 SRAISEX 30,000 25,710 4,290
o JRASHIAY 30,000,000& * 1JH A 30,000
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2N

X{ XH -
S =

Fol=x o
ANBZXISSAHEA TR

&2 HFSAEEH X (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
< 6,000
s 24,000
IRAE MBSMS(FEYT) XA (XHA) 2,000 0 2,000
307 gl2tol & 2,000 0 2,000
11T ALS S RAEE = 2,000 0 2,000
o JIRAES H3AG(FEW) el X
2,000,000& = 1H » 13 2,000
HE2IAZH (FYU=SI) 1,122,250 1,146,238 A 23,988
= 601,284
J| 13,502
< 102,356
s 405,108
el 2l 1,099,500 1,123,488 A 23,988
= 601,284
J| 13,502
< 102,356
i 382,358
ol 2| 65,829 62,289 3,540
101 @124l 65,829 62,289 3,540
01 8= 65,829 62,289 3,540
o NzZt2fag
10,5093 » 29% = 18AI2t = 12& 65,829
LogEESENMEIA(ERR) 473,137 469,874 3,263
= 331,196
< 42,582
s 99,359
101 1A dl 473,137 469,874 3,263
= 331,196
< 42,582
[ia 99,359
03 RIAHAAZZRHE > 473,137 469,874 3,263
o MHIA M3els olAdl S(26%)
473,137,000& 473,137
= 331,196
< 42,582
[ia 99,359
Lo EESEMA 24,960 26,880 A 1,920
101 14l 24,960 26,880 A 1,920
03 RIAHAZZ2HE = 24,960 26,880 A 1,920
o LSS EAMEA N3 WS
80,000& = 269 » 12& 24,960
ColdRtel ¥ ASIEsSXA dgody oAl XA 138,534 129,990 8,544
= 69,267
= 20,780
e 48,487
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2N
X ZH -
L= B

el

=e =X
WY 2LZH (FLU=SX)
el 2l

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
101 @124 H] 138,534 129,990 8,544
= 69,267
& 20,780
= 48,487
03 RIAHL*ZZXHE 138,534 129,990 8,544
o wolgmel Mgl oyl £
2,308,900& * 5¥ x 12& 138,534
= 69,267
= 20,780
= 48,487
SEHLOSSEHHC SSUHNLEAMH A 22E 2124H| 27,004 24,870 2,134
N (BEX)
J| 13,502
= 3,829
iy 9,673
101 e1214| 27,004 24,870 2,134
J| 13,502
& 3,829
o 9,673
03 2INHAZ2ZXNHE %= 27,004 24,870 2,134
o S22 oA S 27,004,000 27,004
J| 13,502
& 3,829
= 9,673
SEHLEOSSEHHC SSUHMLE M A 22E 2124H| 1,200 1,200 0
K& (XA
101 2121 4| 1,200 1,200 0
03 RIAHLZ2ZZ2XE S 1,200 1,200 0
o S22 WEH|
100,000& = 1 = 128 1,200
K GALSIE X AF @129 XI& 2,900 2,900 0
101 Q124 H] 2,900 2,900 0
03 RIAHL*ZZXHE S 2,900 2,900 0
o ARIAAS =X AF 2LH O B
20,000 * 10  12€ 2,400
o KNGAMIASXAF 22Qu0s A 0H|
50,000 ~ 1 = 10 500
FAHE OlsSSEAMEIA AHH K& 72,840 101,212 N28,372
= 58,272
&< 4,370
= 10,198
101 Q124 H] 72,840 101,212 N28,372
= 58,272
= 4,370
= 10,198
03 RIAHA*ZZXHE S 72,840 101,212 N28,372
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Fo=sX
HE2AZH (FUSX D)
o2t 2 bl SREED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 il 2
o OtSSE At 22l At 2124 |
2,025,000& * 2% = 12& 48,600
- 38,880
< 2,916
i 6,804
o OFSSE AR B2IA B O]
20,0008 * 2% * 102 « 12® 4,800
- 3,840
< 288
i 672
o OFS S AR Z2lA 22l 0it]
60,0003 = 2H » 8« 960
= 768
= 58
2 134
o otSEEABAN SENYD
360,000& = 12& 4,320
= 3,456
< 259
e 605
o OtSSEAMd eI 4UHEE =
360,000& = 29 » 12& 8,640
= 6,912
< 518
e 1,210
o OtsSE At ZelAb A2t =¢
230,000& = 29 « 12& 5,520
= 4,416
< 331
i 773
SEAF ZelAb 21 XA (BEX) 65,129 63,384 1,745
= 32,565
< 6,513
= 26,051
101 124 dl 65,129 63,384 1,745
= 32,565
< 6,513
= 26,051
03 RIAHAZZ2THE = 65,129 63,384 1,745
o SEAtcll&2IAt e1A4Hl XI& 65,129,000 65,129
= 32,565
< 6,513
[ia 26,051
AME =X S AL A X2 3,000 1,000 2,000
101 1A dl 3,000 1,000 2,000
03 RIAHAAZZRE > 3,000 1,000 2,000
o SEAtd el Al 22 W=s0d]
100,000& » 29 « 153 3,000
AEESA ZCOUOIH XNEsM 1A XN (BX) 58,086 55,304 2,782
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SN FUSKD
HE: HY2IFH (FUSN D)
Sl ol ) CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 29,043
s 29,043
101 @144 dl 58,086 55,304 2,782
= 29,043
s 29,043
03 RIAHAZ 2B+ 58,086 55,304 2,782
o XA SA ZOUI0IH 1Al X
2,420,250& « 2% » 128 58,086
= 29,043
e 29,043
AHESAH 2COUOIH erHdl XI& 5,000 5,000 0
101 1244 dl 5,000 5,000 0
03 RIAHAZ 2T E =+ 5,000 5,000 0
o X EAM ZOUIOIH 1AHl X (28IFIt)
4,000,000 4,000
o TH&ESA ZCOUO0IE 22us F40
50,000& = 2H « 103l 1,000
Ots= Xl WA 21 AH| 161,881 179,585 A1T,704
= 80,941
< 24,282
s 56,658
101 14 Hl 161,881 179,585 AT, 704
= 80,941
< 24,282
[ia 56,658
03 RIAHAZ 2 E =+ 161,881 179,585 A17,704
o Ots=X WA 124 H| 161,881,000& 161,881
= 80,941
< 24,282
[ia 56,658
JlEZ3l 22,750 22,750 0
JlE2&l 22,750 22,750 0
201 Let24E] 13,210 13,210 0
01 At 2t 2l 13,210 13,210 0
o EY 250,000 * 182K 4,500
o SALEX 25,0003 » 80 A 2,000
o MESE 200& = 2,0300H 406
o MER=Z(ELAX) 18,0008 » 42 » 124 864
o MER=Z (XX
10,0004 = 208 = 123 2,400
o FOIZX AREF ARRE
20,0004 = 128 ~ 63 1,440
o Zp=X UPEH(2E) S|
8,000& = 10 » 20¢ 1,600
203 YR =&l 9,540 9,540 0

- 254 -




A FUEX L
B AR (U= D)
Ee: I3 (e H)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
04 EASHEIRFAH| 9,540 9,540 0
o 300 =1t
(400,000 + (5,000 = 799H)) = 12& 9,540
MEES(FU=EXD) 931,144 906,909 24,235
WEAHAH XK= 931,144 906,909 24,235
LHEHHX = 931,144 906,909 24,235
701 JIEI HEEEZ 911,144 886,909 24,235
01 JIEtSI HEE 2 911,144 886,909 24,235
o o2 EEIAH &3 893,264,000 893,264
o SFCLlEE 2NN (B2 AHFTEHELYEFAH H
=) 1,490,000 * 12& 17,880
702 1282 20,000 20,000 0
o1 1282 20,000 20,000 0
o AZEXII2 HE3(LoEsAE HES
s) 20,000,000 20,000
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